fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:

1 L. 4,7-4,8x5—-4,6=

1 _ s
4,545 %3 15%4,555- 5,3+5,2x2-20%2,6+5

2.3 4 1. 3,6+3,1x5-2,8=
32

1 1
4945 x4+4= 221 %4-10%5,7+2=
4,6+12x4,5+4—5x5,8= 3 3 6x24+8xtino
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é g “ fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
%—%XS—SX %+4=(—%)=(—lé) 4,7—4,8><5—4,6=(—%)=(—23%)
4,5+% X3—15X4,5+5=(—§)=(—7%) 5,3+5,2X2—20><2,6+5=%=5%
§+%—4X%=é 3,6+3,1X5—2,8=%=16%
4,9+% X4+ 4= %= 10% i+2,1X4—10X5,7+2=(—%)=(—19;—(7))
4,6+12X4,5+4—5X5,8=(—%)=(—10%) §+3,6><2+8>< £+2= %=8g
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